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#include “stdio.h”
int main()

{

char a[47];
a[0] = f;//102
a[1]="1;//108
a[2] = ‘a’;//97
a[3] = ‘g’;//[103
ald] ='(;

a[5] = ‘w;
a[6] = ‘h’;
a[7]= ‘4

a[8] =7,
al9] ="
a[10] = ‘m’;
a1 ="y;
a[12] = ‘5’;
a[13] = 1;
a[14] =‘e’;
a[15] =’
a[16]=1’;
a[17] =0’
a[18] = ‘u’;
a[19] =‘s;
a[20] = ‘-5
a[21] =d;
a[22] = ‘o’;
a[23] =‘3’;
a[24] ='s;
a[25]=";
a[26] = t;
a[27] = ‘h’;
a[28] = ‘e’;
a[29] = ‘+;
a[30] = p;
a[31] =h’;
a[32] =‘e’;
a[33] =‘4’;
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a[34]='5’;
a[35] = ‘a’;
a[36] = ‘n’;
a[37]1 =t;
a[38]=7;
a[39] = ‘c};
a[40] =0’
af41]="n’;
a[42] = t;
a[43] = ‘a’;
a[441="1’;
a[45] = 'n’;
a[46] =

for (char i = 33; i < 126; i++)

{

a[46] =1i;

if (a[23] + a[26] % a[17] % a[20] * a[39] - a[7] - a[0] - a[27] * a[15] + a[25] % a[18] % a[16] % a[42] % a[32] + a[6] * a[14] - a[2] - a[36] +
a[35] + a[29] + a[34] - a[31] - a[5] + a[41] % a[3] * a[13] * a[10] % a[12] - a[21] * a[38] % a[24] - a[46] + a[33] % a[4] % a[11] * a[40] %
al44] + a[28] - a[22] % a[30] + a[8] - a[19] - a[1] * a[43] * a[37] % a[45] + a[9] == 183)

{

printf(“%c\n”, i);

return O;

}

[

a[0] == 102

a[0] - a[1] ==-6

a[2] + a[0] - a[1] == 91

a[2] - a[1] - a[3] + a[0] == -12

a[2] - a[4] + a[3] % a[0] + a[1] == 83

a[4] * a[3] % a[2] % a[0] - a[5] + a[1] == 48

a[6] - a[1] + a[4] + a[0] % a[5] % a[2] - a[3] == 21

a[1] * a[3] * a[5] % a[6] - a[2] % a[0] + a[4] - a[7] == 18

a[1] + a[4] % a[0] % a[3] * a[7] % a[6] - a[8] - a[2] + a[5] == 127

a[2] - a[6] % a[8] + a[7] - a[4] - a[1] % a[3] + a[9] - a[5] + a[0] == 50

a[1] - a[5] % a[4] % a[8] % a[3] - a[10] - a[0] % a[7] % a[9] % a[6] - a[2] == -157

a[9] % a[5] - a[11] + a[7] - a[0] % a[10] * a[4] % a[3] + a[1] - a[6] % a[8] + a[2] == 99

a[9] % a[3] % a[7] % a[0] % a[4] - a[2] - a[11] - a[12] + a[6] - a[5] % a[10] + a[8] - a[1] == -187



a[7] + a[9] + a[1] - a[11] * a[5] * a[3] % a[12] - a[13] - a[4] - a[6] + a[8] % a[2] % a[0] % a[10] == -84

a[6] % a[0] * a[9] % a[2] % a[4] % a[10] - a[14] + a[13] % a[11] - a[8] % a[5] + a[7] + a[12] + a[1] - a[3] == 163

a[12] % a[3] + a[15] - a[0] - a[11] + a[13] + a[4] * a[2] % a[1] - a[10] - a[5] + a[9] + a[6] % a[7] * a[8] % a[14] == -22

a[4] + a[16] + a[10] + a[5] - a[7] - a[11] - a[9] % a[13] - a[1] - a[12] % a[2] * a[14] % a[8] % a[6] + a[3] - a[15] % a[0] == 97

a[17] - a[11] + a[1] - a[0] % a[5] * a[12] % a[13] + a[4] % a[14] - a[10] - a[15] % a[8] % a[7] + a[6] - a[2] % a[16] + a[9] + a[3] == 128

a[1] - a[3] - a[6] * a[9] % a[13] - a[18] + a[2] * a[12] * a[7] % a[0] - a[16] + a[17] - a[4] * a[5] % a[14] + a[10] * a[11] * a[15] % a[8] == -123

a[8] % a[7] + a[6] - a[14] - a[4] % a[17] + a[11] - a[12] % a[5] % a[2] + a[15] - a[9] % a[10] * a[13] % a[0] - a[18] + a[19] + a[16] - a[3] -
a[1] ==-7

a[19] + a[20] + a[4] + a[0] - a[17] - a[8] - a[2] * a[7] + a[18] - a[14] - a[3] - a[5] + a[10] - a[11] + a[6] * a[1] % a[13] % a[15] * a[12] - a[9] -
a[16] == -36

a[20] + a[13] % a[4] - a[21] + a[16] - a[12] + a[11] % a[9] % a[3] % a[0] * a[8] % a[2] + a[5] % a[17] + a[15] - a[10] % a[18] - a[6] - a[1] -
a[19] * a[7] % a[14] == -76

a[0] * a[1] % a[11] * a[14] % a[10] + a[5] + a[7] % a[13] - a[4] % a[19] - a[15] - a[8] % a[18] % a[21] % a[12] % a[17] - a[3] % a[9] - a[6] +
a[20] + a[16] + a[22] - a[2] == 112

a[13] - a[6] % a[5] - a[0] % a[9] + a[21] + a[23] + a[18] % a[17] % a[16] % a[7] - a[20] % a[1] * a[15] % a[19] % a[8] * a[2] % a[22] - a[14]
% a[11] % a[10] * a[4] % a[3] + a[12] == 155

a[11] * a[17] % a[16] - a[18] % a[13] + a[10] + a[0] % a[5] - a[23] + a[15] * a[21] % a[20] + a[9] + a[7] - a[19] * a[2] - a[24] + a[1] * a[14] +
a[6] % a[4] % a[8] % a[3] - a[22] - a[12] == -130

a[11] - a[5] % a[1] * a[12] % a[14] - a[6] * a[7] - a[24] + a[10] % a[13] + a[2] * a[23] + a[21] + a[15] % a[3] % a[19] - a[20] * a[0] % a[17] +
a[18] - a[22] + a[8] + a[4] - a[9] + a[23] + a[16] == -161

a[14] + a[19] % a[20] - a[3] - a[4] + a[5] % a[23] % a[12] % a[21] - a[18] % a[24] % a[0] + a[6] * a[17] - a[7] * a[9] - a[10] + a[8] + a[22] *
a[15] % a[16] - a[26] - a[1] % a[11] + a[2] + a[25] + a[13] == -42

a[5] * a[4] % a[12] + a[18] + a[27] + a[22] + a[21] - a[10] - a[25] - a[20] % a[7] + a[14] % a[17] % a[23] + a[19] * a[13] % a[26] - a[1] * a[3]
% a[8] + a[24] - a[6] + a[16] + a[0] - a[9] - a[15] % a[2] - a[11] == 163

a[28] + a[19] * a[9] + a[26] % a[5] - a[22] + a[3] % a[4] + a[12] % a[0] + a[25] % a[2] % a[13] - a[15] + a[23] % a[21] * a[27] % a[20] %
a[16] % a[11] + a[24] % a[7] - a[6] * a[1] - a[14] + a[18] + a[10] % a[8] - a[17] == -43



a[8] * a[10] * a[4] * a[21] % a[26] * a[6] % a[14] + a[22] * a[5] + a[18] - a[25] - a[7] - a[11] + a[23] - a[9] * a[15] - a[2] + a[28] % a[17] * a[1]
% a[0] - a[3] % a[16] - a[12] * a[20] + a[29] + a[27] % a[24] % a[19] - a[13] == -46

a[27] * a[29] * a[11] % a[8] - a[24] * a[16] + a[10] % a[2] % a[7] * a[6] + a[23] + a[0] + a[4] * a[22] - a[30] + a[12] - a[17] % a[5] % a[1] *
a[15] - a[19] * a[20] - a[3] - a[9] - a[13] + a[25] * a[18] % a[14] + a[26] % a[28] * a[21] == 19

a[13] - a[15] + a[23] * a[17] * a[27] % a[8] - a[14] % a[22] - a[29] * a[5] % a[25] + a[4] % a[10] - a[19] % a[7] % a[12] % a[11] + a[20] +
a[31] + a[18] + a[21] * a[30] % a[1] % a[28] + a[0] % a[26] + a[6] % a[24] % a[3] - a[2] - a[16] - a[9] == 147

a[6] % a[25] % a[17] + a[24] - a[23] + a[15] % a[31] * a[13] + a[29] - a[12] % a[0] * a[11] - a[27] + a[5] - a[2] - a[10] % a[28] * a[14] - a[8]
+a[7] * a[22] + a[26] + a[3] % a[21] + a[32] - a[20] * a[4] + a[30] + a[18] * a[16] - a[9] % a[1] % a[19] == 132

a[11] * a[2] % a[19] * a[6] - a[14] + a[32] * a[1] % a[28] - a[3] % a[27] - a[4] + a[13] + a[24] % a[12] - a[10] + a[23] - a[15] % a[0] % a[31]
% a[16] - a[17] * a[7] % a[21] % a[20] % a[25] * a[8] + a[22] * a[18] % a[5] - a[26] + a[33] + a[9] % a[30] % a[29] == 87

a[34] + a[27] + a[29] - a[10] * a[13] * a[20] % a[31] + a[2] * a[23] - a[0] * a[8] - a[6] * a[9] - a[19] % a[3] + a[15] % a[1] - a[25] - a[26] *
a[16] % a[30] - a[17] + a[12] + a[5] - a[33] + a[21] + a[24] * a[14] + a[11] * a[32] - a[22] * a[4] + a[18] + a[28] - a[7] == -56\

a[6] % a[29] + a[4] + a[18] % a[22] + a[16] + a[30] - a[19] * a[21] + a[24] + a[5] - a[34] * a[13] + a[17] * a[11] - a[31] * a[23] + a[14] +
a[28] + a[20] - a[10] + a[32] + a[33] % a[12] * a[26] + a[2] % a[15] * a[1] + a[27] * a[25] - a[3] % a[7] % a[8] * a[9] - a[0] + a[35] == -129

a[14] - a[26] - a[21] + a[34] % a[15] + a[9] + a[19] % a[13] + a[36] + a[18] % a[11] * a[12] % a[30] + a[29] + a[31] % a[17] - a[5] * a[24] *
a[20] % a[8] % a[22] - a[4] - a[25] % a[10] - a[6] - a[3] - a[0] * a[23] % a[35] + a[28] % a[16] % a[32] % a[2] + a[33] - a[1] * a[27] % a[7]
==.75

a[25] - a[30] + a[16] - a[37] - a[21] * a[36] * a[4] % a[11] + a[32] - a[29] % a[34] - a[2] + a[20] % a[1] + a[10] - a[33] + a[0] % a[19] - a[22]
+a[8] + a[13] % a[31] + a[17] % a[24] % a[7] + a[26] - a[3] % a[14] % a[12] * a[5] % a[18] - a[23] * a[6] % a[28] + a[15] - a[35] + a[27] %
a[9] == 21

a[8] + a[34] % a[10] % a[4] % a[16] + a[25] + a[15] - a[31] - a[2] * a[3] - a[27] * a[13] % a[23] % a[1] + a[17] * a[26] + a[5] % a[30] + a[35]
% a[36] + a[22] % a[7] % a[29] - a[21] + a[28] * a[18] - a[37] + a[38] + a[11] % a[20] + a[9] - a[32] - a[0] * a[14] + a[33] * a[12] + a[24] -
a[19] + a[6] == 4

a[21] - a[36] - a[16] + a[28] - a[3] % a[1] + a[35] - a[8] - a[30] + a[29] % a[19] + a[39] - a[2] + a[24] * a[11] % a[34] % a[15] % a[38] %
a[12] - a[33] + a[20] % a[14] - a[18] - a[31] + a[5] % a[10] + a[7] + a[4] % a[26] * a[23] + a[27] - a[6] * a[37] % a[17] * a[25] % a[9] %
a[22] - a[0] * a[13] % a[32] == 184

a[7] * a[21] * a[12] % a[3] - a[17] - a[38] + a[23] + a[6] % a[28] % a[27] % a[14] % a[39] + a[13] + a[32] + a[40] - a[4] - a[8] % a[11] %
a[25] * a[31] + a[20] * a[24] % a[29] % a[34] * a[30] % a[33] % a[5] - a[26] * a[18] % a[2] + a[10] + a[36] * a[9] % a[37] * a[19] - a[15] *
a[1] % a[35] % a[22] % a[16] - a[0] == 75

a[38] * a[34] % a[30] - a[31] + a[26] - a[27] - a[16] % a[0] - a[18] % a[24] % a[29] % a[12] + a[20] - a[15] * a[7] + a[17] - a[13] - a[36] -
a[25] % a[8] * a[22] + a[6] - a[35] % a[39] + a[9] % a[3] % a[10] % a[19] * a[37] + a[40] % a[28] + a[41] - a[2] * a[23] * a[4] % a[1] - a[32]
% a[14] % a[11] * a[21] % a[5] + a[33] == 167

a[22] % a[18] + a[12] * a[23] - a[41] * a[17] + a[15] - a[5] % a[25] - a[14] % a[16] - a[3] + a[36] + a[1] - a[42] + a[26] % a[39] % a[10] +

AlDQ1 0L AlD71  Al71  Aal2NT  Al101 0L AlD1 4 AT221 0L ATNT  ATRT 4 AlT111T  AT121 0L AT2RT * AlI2Q1  AlTAT * Al2A1 * AT2A71 0L AlANT 4 AT211 0L AT221



alcv] /o alar T all T auv] T alid] /oAl Alus] /oAyl T alu] t aptijTapiv] /0 ajuv] aled] T alt] dalet] apui ] /o aptu] t apvi] /0 ajpuv]

* a[38] - a[21] + a[8] * a[34] % a[20] * a[9] == 39

a[31] % a[38] + a[23] % a[33] - a[10] * a[3] + a[5] + a[35] - a[20] % a[27] * a[13] + a[30] % a[14] * a[1] % a[6] + a[37] % a[4] - a[26] *
a[21] - a[7] - a[36] - a[16] * a[0] + a[28] * a[34] * a[42] * a[41] % a[9] - a[15] + a[19] * a[24] + a[11] * a[17] + a[39] % a[32] + a[43] + a[18]
* a[2] - a[12] - a[25] - a[29] - a[22] + a[8] * a[40] == 123

a[44] - a[24] + a[25] % a[30] % a[41] * a[3] - a[23] + a[20] * a[38] + a[15] - a[43] + a[8] - a[29] * a[9] + a[27] + a[33] - a[39] * a[18] % a[0]
+a[7] - a[6] - a[42] - a[2] + a[31] + a[4] - a[32] * a[40] - a[22] + a[13] + a[34] % a[17] * a[14] % a[37] + a[36] - a[10] * a[5] % a[11] * a[19]
+a[12] + a[16] % a[35] * a[21] + a[28] - a[26] - a[1] == -44

a[45] - a[9] % a[42] - a[0] + a[44] % a[20] * a[13] - a[38] % a[36] * a[17] + a[24] + a[31] + a[28] - a[7] % a[16] * a[39] * a[25] * a[1] %
a[14] * a[41] - a[18] - a[4] - a[3] % a[10] + a[23] % a[12] + a[37] * a[29] % a[2] + a[30] - a[22] + a[32] % a[34] + a[33] + a[8] % a[26] *
a[11] * a[15] % a[40] % a[5] % a[19] - a[21] + a[43] % a[6] * a[35] + a[27] == -76

a[23] + a[26] % a[17] % a[20] * a[39] - a[7] - a[0] - a[27] * a[15] + a[25] % a[18] % a[16] % a[42] % a[32] + a[6] * a[14] - a[2] - a[36] +
a[35] + a[29] + a[34] - a[31] - a[5] + a[41] % a[3] * a[13] * a[10] % a[12] - a[21] * a[38] % a[24] - a[46] + a[33] % a[4] % a[11] * a[40] %
a[44] + a[28] - a[22] % a[30] + a[8] - a[19] - a[1] * a[43] * a[37] % a[45] + a[9] == 183
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